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1.HanguTe Hen3BeCTHBIN YIO
TpeyroabHuKa ABC, ecnu:

a8l - A =4t " H ¢l
6) 2 C=68°; 2 A=56° :

B2 = 2= ==



2. TpeyronbHuUK ABC -
paBHOOeApEeHHbLIN,
AC - ocCHOBaHmue.

Hangurte yribl
TpeyroJibHUKa, eCJIu

L A=40°



T =
3 ESieAAL0 SRV \A—;__

paBHOOEOPEHHbLIN,
AC — ocHOBaHMUe.

Hangure yribl TpeyrojbHUKA,
ecsiu £ B = 80°
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4. Hangute yrnoil
TpeyronbHuka ABC, ecnu
ZA 7B/t =72"5"11



5. B rpeyronpHuke ABC

£ A=40°,

£ B B 3 pa3sa 6oJibliie £ A.
Hanaute 2 C.



6. B TpeyronbHmnke ABC yron
A bonblue yrna B B 2 pasa,

a yron C bonblue yrna B B
3pasa. Hangute yrmol
TPeyronbHuKa.



